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Freiia o« 3 W2 [AfRreHaT 3 : 70
Time allowed : 3 Hours] [Maximum Marks : 70

S () NEHYHE SRR 99 7 8 g uig & 3o e

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) F% J97 & GHY 97T F1 FHHER T G & FHT |

Solve all parts of a question consecutively together.

(iii) J% 597 Pl 79 98 & IRE] BT |

Start each question on fresh page.

(iv) 1 9T9T3T & 31~ §17 %1 R 4 37 gare 8 7= 8 1

Only English version is valid in case of difference in both the languages.

1. T % &g 1 S dfe -

Answer in the following in brief :

() 7 H e AT
Stream gauging in river
(il) Icore AT
Spillways
(i) fu fo=ms
Drip irrigation
(iv) <ol =56
Hydrological cycle
(v) sa S|
Duty and Delta (2%5)

2. (i) HTEHT W TS Rl e ST sy |
Explain Symon’s Rain gauge with the help of sketch.

(i) Tof¥r = SopR % 3T9aTEl I gHIST |
Explain various types of run off. (6+6)

- (1 0f2) P.1.0.
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(2 0of2)
frdt = st & farwet 81 % o sHETsU |

Explain causes of failure of Earthen dams.

Tocd S19 W T AT fafr= arel 1 wmes |

Explain various types of forces acting upon gravity dams.

&l 1 affentor TaEsy |
Explain classification of canals.

FEt aun i fyee fagial w1 g9z |

Explain Kennedy’s and Lacey’s silt theory.

R & ITEHA B4 & SR fafau |
Write the causes of failure of weirs.

Hferdt TeTeRy 1 et ST et ) wwesT |

Explain the working of a Cavity tube well with sketch.

R 38T 9 gUUR 6 s STt awEsy |

Explain super passage and level crossing with help of sketch.

TUeh fthet <fiaX ! wfers wwemsu |

Explain rock fill weir with sketch.

fafir= wopR & =l ot o sTent eS|
Explain various types of strainers with sketches.
HEA o T3h1 THE Hl THII |

Explain rotation of crops.

8. o= w afyra foofomt forfigu -

Write short notes on following :

(1)

(i)

YA 3 I
Divertion head works

T¢I I T T a1t T

Factors affecting duty

7347

(6+6)

(6+6)

(6+6)

(6+6)

(6+6)

(6+6)



